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Dirichlet  u(x,y) = r(x,y) ondR
Neumann @(x y) =r(Xy) ondR

Robin  a(x, Yu(x,y) + B(X, y) (x y) =r(x,y) ondR
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1.0.1 EXAMPLE
Bradie Exampple 9.1

formula O0O0O0 10000000

u ¢4

7y —(2 + n®*x(1 - x))cogrX)

R=((xy)0<x<1

O<y<3
f(xy) = —(2 + 72x(1 — x))cogny)

gUO0O00oooOo (piecewise)

0 )

a(xy) = X(lo_ X)

B

<< x X
I
NE O R O

oooo
D00000000000000x000 x0000000000000000h=120 x
0ooooo (y)

e — e — e — e — e
| | | | |
e — O — 0 — 0o — e
| | | | |
e — e — e — e —> e

e=[000O0OOOOOOUO

o=0000

u0,y) =u(l,y=0)
u(x,0) = x(1 - x)
u(x,2)=0

M,N,h M=2
N=4
h=}
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gooboooo

-h?fi1 +010 +O12  +0o1
-Wi1 +4Wo1  —Ws3y -h?f1  +G0 +G22

-Wo1  +4Ws; —h?f31 4030 +Us2  +Qa1

D = f gogd 0ogd ogg

dwip  —Woq

fgO0O0ooo fOwOoOOooOooOo

Oi2 — OG22 — 032
| | | | |

Oop — fiu1 — f1 — fz31 — 0Oa1

dio — Q20 — U3po

fooo
—(2+ 7®x(1 - X))cosry

a*l-a=0.25 0.5 0.75
0.1875 0.25 0.1875

(2+ 1p2* a*l-a)
3.85055 4.4674 3.85055

2 o. 0.25p1
0.707107

-(2+ 1p2* a*l-a)* 2 o. 0.25pl
_2.72275 _3.15893 _2.72275
good x(1-x)
goooooobooooooooooon
01,0, 92,0, 930

oooogoooo

a*(l-a=.0.25 0.5 0.75)
0.1875 0.25 0.1875

gbooooboobboobooooboo

-1 4 -1 wy; 046809
0o -1 4 W31 0.351067
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goog
e DOODOOODODOOOOO
DO

0.357672 0.447433 0.357672

e NOODDOOOO
(£d0® ; gd®) calc_pdiff® 1r4 ; jx=. 0.25 0.5 0.75

+-——— - e e +
| 4 _1 0]0.357672 0.134151]
[_1 4 _1]|0.447433 0.178934|
| ® _1 4]0.357672 0.134151]|
oo o +

D wi ans
O

Xj Yk Wik

0.25 025 0134151

05 025 0178934

0.75 025 0134151

2 000000 -0000000ogn
21 0000OO0O0O0OODOO-00D0000

S50000000D0000oooooon

-Wp1  +4Wip  —Wap -wi1 = -h*fio +0oo

“Wrp  —Wio +4Wpo -Wag -—Wo1 = -—h’fyg

—We3 “Woo  +4wzg —Wsy = -h?fip +0ap
ou
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W11 — Wk
e a(X1)
= Wr1=Wp1+ 2h0/(X1)
Wr2 = Wo 1 + Zha(X2)
Wr3 = W31 + 2ha(Xa)

+AWig  —Wap —wi1 = -h?fig +Qoo + 2ha(xq)
—W10 +4W2,0 —W30 —Wp1 = —h2 f2,0 +2ha (X2)
—Wyo +4Wsp -Wg; = —h?fag +040 +2ha(X3)
ogooo
k=4 ¢ — o — e — e — o
| | | | |
k=3 ¢ — 0o — o — o — e
| | | | |
k=2 ¢ — 0o — o — o — e
| | | | |
k=1 ¢ — 0o — o — o — e
| | | | |
k = 0 [ ] g o —> o —_— o E— °
® ® ®
e=[00O000OOO0O0OO
o=0000
=0000
DOOO

4 -1 O

D=|-1 4 -1

0O -1 4

WRj = [Wl,j,Wz,j,Ws,j]

—h2 fz,o +2ha’(X2)
-h?f30  +0ao +2ha(xs)

—h2 fl,O +Jo,0 +2ha/(X1)
DWgrg — IWRr1 = = bRO

—h? fi1 +do1
= le

_IWRO + DWR]_ - |WR2 = {_hzle
—h? fa1 +0a1
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—IWg; + DWgo — |WR3 = = sz

—h? f22
—h2 fao +0a2

—h2f1,2 +00,2 ‘

-h?fi3 +0oz +014
—h? fo3 +024
—h?f33 +0a3 U3a

—IWgy + DWgrs =

gbooboobogooboooo

D -2 Wro bRO
-1 D -1 WR1| _ le
-1 D -—l||wWre| |bre

-1 D WR3 bR3

211 EXAMPLE, O0OODOODOO
Bradei Example 9.2

formula Exampleld O O

u 4

st v —(2 + 7°X(1 - X))cognX)

f(x,y) = —(2 + 72x(1 — X))cogny)
g(x.y) =0

a(X)=0
godad

u©0,y) =u(l,y)=0
ou
%(X, 0) =0

1
ulx,=)=0
)
oo00oooooooon
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e — W3 — W1 — W3; — e
| |
W10 — Woo —> Wap
DOO0O O0O000000000O0OOOoOoJooBOXOOODOO
e OODODODODODODODODODO
e [JO0O0OOOOODDODODUDODLODLDLO
e OO0 KkODOOO

-1 D -l
-1 D

(Do,. _2* =/71.3),(_1*=/"1.3),.D0
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4 -1 0|-2 0 O |wy]| 0240659
-1 4 -1} 0 -2 0 |wy]|0279213
0O -1 4]0 0 -2]| xzp |0.240659
-1 0 0] 4 -1 0 |wy|0170172
0O -1 0|-1 4 -1]|wy 0197433
0O 0 -1{0 -1 4 |ws| 0170172
fdxy0® calc_pdiffl 1r4;jx;kx
e o +
| 4 1 0 _2 0 0]/0.240659 0.192371|
[_1 4 _1 0 _2 0]0.279213 0.256771]
| © 1 4 0 0 _2]|0.240659 0.192371]
1 0 0 4 _1 0]/0.170172 0.136027|
| © 1 0 _1 4 _1]0.197433 0.181564]
| © 0 _1 0 _1 4]0.170172 0.136027|
oo R +
D wi ans
O
Xj Yk Wi k
025 0 Q192371
0.5 0 0256771
075 0 Q192371
0.25 025 0136027
05 025 0181564
0.75 025 0136027
2.1.2 Script
jx=: 0.25 0.5 0.75
kx=: 0 0.25
fdO=: 3 : -(2 + 1p2* y*1-y)*/ 2 o. 1pl* {.y’
gdd=: 3 : 'y * 1-y’
fdxy®=: 4 : '-(2 + 1p2* y*1-y)*/ 2 o. 1lpl* x’

NB. (1r4"2)* 2+ 1p2* jx*1-jx

NB. Bradie Example 9.1

calc_pdiff®=: 1 : O
(£d0;gd0®) calc_pdif® (1r4;jx)

NB. Usage:
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'HO 10 ’=: vy
fg=: u L:0 JO® NB. fx gx
TMP=. ;("1) ,. fg NB. open box

YX=:({: TMP)+(-"&2 HO)*{. TMP NB. make y
DO;YX,.YX %. DO
)

NB. Bradie example 9.2

calc_pdiffl=: 1 : @

"HO JO KO@'=: y

fg=: KO u L:0 J0

YD=:;|:(- "&2 HO)* fg

DX=. (DO,. _2* =/7i.3),(_1*=/"1.3),.D0O
DX;YD,.YD %. DX

)

22 0J000OO0O0O0OODOO-00D0O0O0ODbODbOO0O0OO

500000000000000d

4w —Woq —W12 = -hfi1 +00 +0o1
2
-Wi1 +4Wo1  —Wag —Wo = -hf1 +020
—Wo1  +4W31  —Wa1  —Wap = —-h?f31 +030
—W31  +AWg1 —Wap -Wep = —h2fy1 4040
ou
A_,
n v)
ou
— =
Ix v)

We1 = Wa1 + +2ha(yr)

oooo
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® ® ® ®
k=4 ¢ — 0o — o — o — o ®
| | | | |
k=3 ¢ — o — o — o — o ®
| | | | |
k=2 ¢ —» o — o — o — o ®
| | | | |
k=1 ¢ — o — o — o — o ®
| | | | |
k=0 ¢ — e — e — e — o
e=[000000000O00O0O
o=0000
=0000
DO 100000000
4 -1 O 0
, -1 4 -1 O
D = -1 4 -1
-2 4
—hi fi1 +010  +0oa
/ -h*f21 Q20
D Wgr — IWrp = ’ : =b,
R1 R=|_2f1 g0 R1
—h?fa1  +0s0  +2ha(yr)
—-h?fi2  +0Q02
—IWg1 + D Wrp — IWRg = —h2 f3’2 = sz
—h?faz +2ha(y2)
-h?fi3 +0Q03
/ —h? foa
—IWgo + D Wrg — IWRrs = _h2f ’ = brs
33
Pt +2hays)
—h?f
14 1004
, —h? fou
—IWrs + D Wrg — IWRg = hzf’
- 34
—h?f44 +2ha(ys)
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PO ZE + 4(u = r(x)

~ 2ho(x,) 2hr(xq)
WEs = Wy 3 p(x0) Wyg + p(x)
—h?f1a  +Q04 + %
” —h?fp4 + 20
—2|WR3 +D Wrg = —hz f3’4 +2ﬁ§r)(()2(%) = bR4
, ﬁ X3
—h2fy, +2ha(ys) +%§$‘)
gdoooooooooodao
D' -l Wri]  [bre
-1 D -l Wrz|  |bre
-1 D —l||wrs| ~ |brs
-2l D" |[Wra bra
D' -l
-1 D -l
-1 D -l
-2 D
4 -1 O 0
, -1 4 -1 O
D=lo -1 4 21
0 0 -2 4
4+ 2h a04) -1 0 0
p(x1) (%)
1 44 2n 2 -1 0
D’ = p(x2) (x3)
0 “1 4 ndX -1
P(X3) (x)
0 0 -2 44+ 20X
P(Xa) |



2 0000000 -0D000000000 16

2.2.1 Example
Bradie Example 9.3

T 9°T
W+a_y2_o ,O<X<1/2 ,0<y<1
oT (1 oT
T(O, y) = T(X, O) =500 & (é,y) =0 6—y(X, l)+ 10T(X, 1) = 3000

gboobogo

®F5 QF6

k=4 o — o — o ® F4
| | |

k=3 ¢ — o — o ©® F3
| | |

k=2 o — o — o ® F2
| | |

k=1 ¢ — o — o ® F1
| | |
k=0 o — ° — °

j=0 j=1 j=2

e=[J000O0O0ODODOOOO

o=0000

=0000

gooooboogbooobooooo

f(x,y=0 g(xy) =500

a(y) =0

p(x) =1 q(x) =10 r(x) = 3000
h=1/4
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®F5 ®F6
bra k=4 g04 — w4 — w24 ® F4

brs k=3 ¢g083 — w13 — w23 ® F3
bre k=2 g02 — w12 — w22 ® F2

bt k=1 g0l — wll — wll ® F1
| | I

k=0 gd0 — gl0 — @20
j=0 j=1 j=2
g(x.y) = all 500
f(x,y)=0
a=0
brn0O0ODODO
—h2f1,1 +01.0 +00.1
Doy = —h2f2’1 020 _ 0 +500 +500
RL™1-h2f3; g3 ~|0 +500 +0
—h2 f4,1 +04,0 +2ha(y1)
—-h?fi,  +0o2
be, = | P22 _ [0 +500
R2 = —h2f3’2 ~ 10 +0
—h2 f4,2 +2ha(y2)
—-h?fi3  +0o3
e = ~h?fp3 10 +500
R3 ~ —h2f3’3 ~ 10 +0
—h2 f4’3 +2ha/(y3)
N T +% [0 +500 +2(0.25)(3000)1
R -k, +2ha(ys) +2002|7 |0 +0  +2(0.25)(3000)1
D'0O0O0OO
q(x1)
o | ) 1| [4+2(025)10)1 -1 }
5 4+ 9h aq(xa) -2 4+ 2(0.25)(10y1

P(Xa)
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4 -1]-1 0|0 O] 0 O |[wy] [1000Q
-2 4]0 -1/0 0] 0 O |wy 500
-1 0 4 -1]-1 0 0 0 W12 500
0 -1/-2 4]0 -1 0 O |wp| | O

0 0|-1 0|4 -1[-1 0 |[wws| |500
0O 0|0 -1(-2 4|0 -1|wgs 0

0O 0|0 O0|-2 0|9 -1|wya 2000
0O 0|0 O|0 -2|-2 9 |[wa] [1500

2.2.2 script00d0

mk_d_dashl 4
4.1 0 0
-1 4.1 0
0 _1 4 _1
0 0 _2 4

mk_d_dashl=: 3 : 0

NB. Usage: mk_d_dashl 4

SIZE=. y

TMPO=.;("1),.(SIZE-2)#<_1 4 _1 NB. make bogy

TMP1=.TMPO®,. ((# TMPO®),(SIZE - {:$ TMPO®)) $ O NB. add 0O column
TMP2=. (-i. # TMP1) |."® 1 TMP1 NB. rotate with rank 0 1

[."1 (].C("1)4 _1 , TMP2),4 _2 NB. add top and last raw

)

4 2 mk_mat_a 0.25 1 10
e R - +o———- +
| 4 _1|_1 0|60 |60 |
[_2 4] 0 _1|100 [0 0 |
- F--m—- F--m—- +--—- +
[_1 0] 4 _1|_1 0|6 0 |
| ® _1/_2 4] 0 _1/06 0 |
- F--——- F--m—- - +
0 0 [_1 O 4 _1/_1 0]
00 | 0 _1|_2 4] 0 _1]
- e +--——- +--—-- +
00 (060 [_2 O 9 _1|
00 (060 | O _2]/_2 9]

+-———- +-———- +-———- +-———- +
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OpenBoxoOOoOoooooQ)
,./ /> a

|. 42 % 1000 500 500 0 500 O 2000 1500 %. ,./ ,./ >a

unit is K
Wiy Woy
356995 339052
43695 418739
472065 462006
489305 485154

R NWPs

4 2 calc_pdiff elli L 0.25 0 500 0 1 10 3000
356.995 339.052
436.95 418.739
472.065 462.0006
489.305 485.154

2.2.3 Script
NB. --Bradie--Example 9.3------------mmmmmmmm

NB. Ellipic /Newman Robin boundary condition

calc_pdiff_elli_L=: 4 : 0

NB. 4 2 calc_pdiff_elli L 0.25 0 560 0 1 10 3000
NB. condition Newman/Robin left bottom

NB. 4 2 uh fgalphapgqr

"HX FX GX ALPHA PX QX RX'=: y

MAT=: ,./,./ > x mk_mat_a_sub0® HX,PX,QX NB. opened
BR=: ; x mk_br_sub® y

|. x $§ BR %. MAT

)

mk_d_dashl_subl=: 3 : 0

NB. D’

NB. Usage: mk_d_dashl 4 (SIZEC)

SIZE=. y

TMPO=.;("1),.(SIZE-2)#<_1 4 _1 NB. make body
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TMP1=.TMPO®,. ((# TMPO®),(SIZE - {:$ TMP®)) $ O NB. add 0 column
TMP2=. (-i. # TMP1) |."®0 1 TMP1 NB. rotate with rank 0 1

[."1 (].C("1D4 _1 , TMP2),4 _2 NB. add top and last raw

)

mk_d_dash2_subl=: 4 : 0

NB. D’’

NB. Usage: 3 mk_d_dash2 0.25 1 10

NB. x is SIZE C

SIZE=. x

'HX PX QX'=. y

TMPO1=. 4++:HX*QX%PX NB. born

if. 2=SIZE do. TMP3=. (TMPO®1,_1),: _2,TMPO1

else.

TMPO=.;("1) ,.(SIZE-2)# <_1 ,TMPO1,_1 NB. expand to n raw
TMP1=.TMPO,. ((# TMP®),(SIZE - 3)) $ 0 NB. add ® column
TMP2=. (-i. # TMP1) |."® 1 TMP1 NB. rotate with rank 0 1
TMP3=.|."1 (|].("1) (TMPO1, _1) , TMP2),TMPO1, _2 NB. add top and last raw
end.

)

mk_mat_a_sub®=: 4 : 0

NB. size is kn -1 // is unknown raw

’SIZER SIZEC’=. x NB. raw column

NB. 'HX PX QX'=. y

MAT®=: < (SIZEC,SIZEC)$® NB. all null

TMPO1=:(_1*=/"i. SIZEC ); (mk_d_dashl_subl SIZEC);_1%=/"i. SIZEC
TMPO=:;("1),.(SIZER -2)# <TMPO1 NB. body

TMP1=:(- i.# TMPO®)|.("0® 1) TMPO,.(; (# TMPO®), (SIZER- 3))$ MATO NB. add O and twist $ MATO
TMP20=. (}. TMPO1), TMP21=.(SIZER- 2 )# MATO® NB. top raw
TMP22=.(_2%*=/"i. SIZEC); SIZEC mk_d_dash2_subl y NB. body of last law
TMP20,TMP1, (TMP21,TMP22)

)

mk_br_sub0=: 4 : 0
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NB. Usage: 4 2 mk_br_sub® 0.25 0 500 0 1 10 3000

"HX FX GX ALPHA PX QX RX’=: y

’SIZER SIZEC’=: x

GXR=: (>: SIZER) # GX

GXC=: (>: SIZEC) # GX

HX2=: "&2 - HX

ANS=. <’

for_ctr. i. SIZER-2 do.

BR_CENTERO®=:+/"1 (HX2*FX),.(ctr{ }. GXR), ((SIZEC-2)#0), (+: HX)*ALPHA

ANS=. ANS,<BR_CENTERO®

end.

NB. top is bottom of matrix

BT_TOP=: <+/"1(HX2*FX),.((+: HX)*RX%PX),.({. GXR), ((SIZEC-2)#0), (+: HX)*ALPHA
NB. bottom is top of matrix

BT_BOTTOM=: <+/"1 (HX2*FX),.(}. GXO),.(({: GXR), (SIZEC-2)#0), (+: HX)*ALPHA
BT_BOTTOM, (}. ANS),BT_TOP

)

3 References

Brain Bradie [A friendly Introduction to Numerical Anaysis] Pearson Education 2006

00 A Free Download

Jhttp://www. jsoftware.com
Scripthttp://homepage3.nifty.com/asagaya_avenue



